
Турнир №1 по решению этюдов (+; +; =)

Ответы
№ Задание Решение

№1

XABCDEFGHY
8-+l+-+-+(
7+-+-+-+-'
6-+L+-+-zp&
5+-wq-+-mk-%
4-+-+-+-+$
3zP-+-+PmKQ#
2-+-+-+-+"
1+-+-+-+-!
xabcdefghy

+   5+4   С+

№1-1н. А. Жуков [2019 г.]

1.f4+  (1) (1.Qh4+?!  Kg6=; 1.Q:c8?!
Qg1+=)  1...Kg6  (1...Kf6  2.Q:c8+-)
2.Qh5+!!  (1+2=3)
2...K:h5 3.Le8# (3+1=4)
2...Q:h5 3.Le8+  Kf5  4.L:h5
(4+1=5)

№2

XABCDEFGHY
8-+-+-+-+(
7+L+-mK-+-'
6-+R+-+-+&
5+-+-zp-+-%
4-+P+-+k+$
3+-+-+-+-#
2-+-+p+P+"
1+-+-+-+-!
xabcdefghy

+   5+3   С+

№1-2н. А. Жуков [2019 г.]

1.Rg6+  (1)  2...Kf5 (1...Kh5 2.Kf6
e1Q 3.Lf3+  Kh4  4.Rg4+  Kh5
5.Re4+  и  L:Q)  2.Rg4!!  (1+3=4)
2...e1Q (2...K:g4   3.Lf3+  Kg3
4.L:e2) 3.Lc8# (4+1=5)

№3

XABCDEFGHY
8-+-+R+-+(
7mk-+p+-+L'
6-+-+R+-+&
5zp-mK-+-+-%
4-+-+pzp-+$
3+-+-+p+-#
2-+-+-+-+"
1+q+-+-+-!
xabcdefghy

=   4+7  С+

№1–3н. А. Жуков [2019 г.]

1.Ra8+!  (1)  1...K:a8  2.L:e4+
Ka7!  (1+1=2)  (2...Q:e4?  3.R:e4
f2  4.Kb6  f1Q 5.Re8#)  3.Ra6+!
(2+2=4) (3.L:b1? d:e6-+) 3...K:a6
4.Ld3+!  (4.L:b1?  4...d6+!-+)
4...Q:d3  (4...Kb(а)7   5.L:b1=)  –
пат (4+1=5)
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